



St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:09 PM

General Details

 Parcel ID:
 510-0013-00262

 Document:
 Abstract - 01306986

Document Date: 02/01/2017

Legal Description Details

Plat Name: PORTAGE

Section Township Range Lot Block

15 65 17 -

Description: THAT PART OF NW1/4 OF SW1/4 LYING ELY OF CENTERLINE OF CTY RD #24

Taxpayer Details

Taxpayer NameULEN LANCE & AMYand Address:5398 CRANE LAKE RD

ORR MN 55771

Owner Details

Owner Name ULEN AMY D
Owner Name ULEN LANCE C

Payable 2025 Tax Summary

2025 - Net Tax \$577.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$662.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15	Total Due		
2025 - 1st Half Tax	\$331.00	2025 - 2nd Half Tax	\$331.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$331.00	2025 - 2nd Half Tax Paid	\$331.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

Parcel Details

Property Address: 5398 CRANE LAKE RD, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: ULEN, LANCE C & AMY D

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$52,600	\$87,200	\$139,800	\$0	\$0	-		
	Total:	\$52,600	\$87,200	\$139,800	\$0	\$0	1058		





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:09 PM

Land Details

Deeded Acres: 19.19 Waterfront: Water Front Feet: 0.00 Water Code & Desc: Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

0.00									
ot guaranteed to be surv	vey quality. A	Additional lot	information can be	e found at	av@stlouiscountymp.gov				
Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
1910	77	1	1,157	U Quality / 0 Ft ²	1S+ - 1+ STORY				
Story	Width	Length	Area	Foundation					
1.5	13	17	221	FOUNDA ⁻	TION				
1.5	22	25	550	LOW BASE	MENT				
1	6	8	48	POST ON GI	ROUND				
1	8	28	224	POST ON GI	ROUND				
1	6	12	72	POST ON GI	ROUND				
Bedroom Coun	nt	Room C	Count	Fireplace Count	HVAC				
2 BEDROOMS		-		0 5	STOVE/SPCE, WOOD				
Improvement 2 Details (PB 28X50)									
Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.					
0	1,40	00	1,400	-	-				
Story	Width	Length	Area	Foundat	tion				
0	28	50	1,400	FLOATING	SLAB				
Improvement 3 Details (OPEN 7X30)									
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	210	0	210	-	<u>-</u>				
Story	Width	Length	Area	Foundation					
1	7	30	210	POST ON GI	POST ON GROUND				
I	mprovem	ent 4 Det	ails (7x23 BAF	RN)					
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
1975	18	4	184	-	-				
Story	Width	Length	Area	Foundation					
1	8	23	184	POST ON GROUND					
1	9	10	90	POST ON GROUND					
Improvement 5 Details (8X14 TRLR)									
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	11:	2	112	<u>-</u>	-				
Story	Width	Length	Area	Foundat	tion				
0	8	14	112	POST ON GI	ROUND				
	ot guaranteed to be surgov/webPlatsIframe/frm Year Built	Improvem Year Built Main Flor	Improvement 3 Improvement 3 Improvement 3 Improvement 3 Improvement 4 Improvement 4 Improvement 5 Improvement 5 Improvement 6 Improvement 6 Improvement 7 Improvement 7 Improvement 8 Improvement 9 Improvement	Improvement Improvement					





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:09 PM

		Improvem	ent 6 Details (1	0X12 STOR)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	S Area Ft ²	Basement Finish	Styl	le Code & Desc.		
STORAGE BUILDIN	G 0	12	0	120	-		-		
Segmer	nt Stor	y Width	Length	Area	Found	ation			
BAS	0	10	12	120	POST ON GROUND				
		Improvem	ent 7 Details (BX10 COOP)					
Improvement Type	e Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code & De				
STORAGE BUILDIN		80)	80	-		-		
Segmer			Length	Area	Found				
BAS	0	8	10	80	POST ON (GROUND			
		Improve	ment 8 Details	(Camper)					
Improvement Type			Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code & De				
SLEEPER	1995	25		256	-		-		
Segmer			Length	Area	Found				
BAS	1	8	32	256	POST ON (GROUND			
		Sales Reported	to the St. Lou	is County Aud	litor				
Sale Date Purchase Price CRV Number						r			
02	/2017		\$130,000			220443			
11/2006 \$130,000 175049									
		As	ssessment His	tory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV			
	201	\$52,600	\$83,200	\$135,800	\$0	\$0	-		
2024 Payable 2025	Total	\$52,600	\$83,200	\$135,800	\$0	\$0	1,015.00		
	201	\$50,500	\$88,600	\$139,100	\$0	\$0	-		
2023 Payable 2024	Total	\$50,500	\$88,600	\$139,100	\$0	\$0	1,144.00		
	201	\$46,100	\$73,900	\$120,000	\$0	\$0	-		
2022 Payable 2023	Total	\$46,100	\$73,900	\$120,000	\$0	\$0	936.00		
	201	\$33,900	\$63,900	\$97,800	\$0	\$0	-		
2021 Payable 2022	Total	\$33,900	\$63,900	\$97,800	\$0	\$0	694.00		
		7	Tax Detail Histo	ory					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bu		otal Taxable M		
2024	\$977.00	\$85.00	\$1,062.00	\$41,525	\$72,85	4	\$114,379		
2023	\$793.00	\$85.00	\$878.00	\$35,943		\$57,617			
2022	\$609.00	\$85.00	\$694.00	\$24,043	\$45,31	\$45,319			





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:09 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.